1R B1E 2016%1H2H
1 FYIFEFIRA VS 2 BRETFPA
= A=
RYIFERIBA FEETU FEETU RYIFERIBA
b : YFSCEB o RCE It 5 7 B
B . FPLTRR 7 EXE T 79 : KERE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | Xk dt 4H +1 | 450 it 4H +1 | 450
2 |&tl = | anT | +12 | 220 %= | 4s | 1 | s0 5
3 |zmA| @ | aHx | = | 790 | 7 | 4 | = | 620 5
a \wal m | 4s | +1 | 650 | B | 4s | +1 | 650
5 |t = | aNT | +2 | 220} 7 | aNT | = | 400 | 7
6 Al = | 4s | = | 620 7 | 4s | = | -620
7 |wal & | eH | -2 | 100 | %= | aH | +2 | 680 | 13
8 |wxk|l @ | aNnT | +3 | 490| 7 | s¢c | +1 | -420 2
DATUM&iit iFE
IRYIFEFORA =BT v 5 ] 20 | 12
S BR/EPET B 6 ZSOE/ T HE -2 &it 20 12
BRI /IKERE 2 FI_=LENE -6 V.P. 13.12 | 6.88




1R 2R 20164F1H2H
3 iFYISPARKRA VS 4 REEEEN
H= A=
RYIISPARKBA REESEN REREEI RYIISPARKBA
it : iER R XR it : XEF % EF
B A 7 1217 B : KR 7 - tRiE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | Xk dt 4H +1 | 450 it 4H +1 | 450
2 it x 4S = -420 x 4S -1 50 10
3 panyiic] [ri] 4H = -620 [ri] 5Hx -1 200 13
4 WE=] [£3] 4S +1 650 5| 4S +1 650
5 it x 3C -1 50 ® 3NT -2 100 2
6 panyiie] [ri] 4S = -620 7 4S +1 -650 1
7 E=] x 6H = -1430 x 3NT +1 -630 13
8 TS x 5C +1 -420 [ri] 6D = -920 11
DATUM%it EEE
iRIIISPARKPA FREREM r. 5+ 12 | 38
RF/EA 17 X F/KER 15 Aait 12 | 38
FF/E5RE -15 XUNR/AREF 17 V.P. 231 | 17.69




%1% % 3% 20164F1H2H
5 R®ISIEB D VS 6 FRFE1+1BA
H= A=
RYI UL REE 1+ 1A REE 1+ 1A RYI B
it : BFR % HEE It : BEE 7% : EAIE
B RER 7 #PIR B ZIEE 7o : {AdkZR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 [ XFk| 4t 4H = 420 1t 4H = 420
2 it x 4S -2 100 x 4S -1 50 2
3 panyiie] [ri] 3H = -140 [ri] 4H = -620 10
4 E=] 1t 6S -1 -100 [£3] 6S -2 -200 3
5 it x 2NT -1 50 75 2S -1 50
6 panyiie] [ri] 4S = -620 x 4S +1 -650 1
7 E=] [ri] 4H +2 -680 x ANT = -630 2
8 TS [ri] 5D +1 -420 [ri] 6D = -920 11
DATUM#tit A
i~ IERB FE1+1BA y: S+ ] 27 2
BUTK/ BYER 6 BEEE/FEE -20 Aait 27 2

EXPAIE /{2 2R 20 P E/# PR -6 V.P. 175 | 25




%1% %45 20164F1H2H
7 YRR VS 8 FR3sEkPA
H= S
R KRR IREEERBA IREEERBA R KRR
it : &5 IR XN it : FRiElE R : MT5RfE
B EE 7 EA 7 : A =
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | Xk dt 4H +1 | 450 it 4H +1 | 450
2 it x 4S -1 50 x 4S = -420 10
3 panyiie] [ri] 4H = -620 1t 4Sx -2 -300 8
4 E=] [£3] 58S = 650 [£3] 4S +1 650
5 it x 2C = -90 ® 4H -1 50 4
6 panyiic] [£3] 2D -2 -100 x 4S = -620 11
7 PWE=] [ri] 4H +2 -680 x 6H = -1430 13
8 TS [ri] 5C +1 -420 [ri] 6C = -920 11
DATUM% it g
3 [[7 ) 4 S5 RTERBA r. X+ a5 | 12
E/FEE 18  WiEE/MOE 21 ait a5 | 12
Mot/ £ 25 21 RN/ EA T -18 V.P. 18.83 | 1.17




201 6B TRIRC e
1R %5 5 20164F1H2H
9 iFYIISKYBA VS 10 FZF{E(EPA
H= A=
STHIISKYBA IRES(EAEIA IRES(EAEIA STHIISKYBA
it : 2R % DEH it - 788 IR AR
% TSN 7 T & ORE 7 T
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 4H +1 450 1t 4H = 420 1
2 it x 4S = -420 x 3NT = -400 1
3 panyiie] [ri] 3H +1 -170 1t 4Sx -3 -500 8
4 E=] [£3] 4S +1 650 5| 4S +1 650
5 it x 2C -1 50 ® INT -1 50
6 panyiie] [£3] 3H -2 -100 [ri] 3S +1 -170 2
7 E=] x 6H -1 100 x 6H = -1430 17
8 TS [ri] 3NT +3 -490 [ri] 6C = -920 10
DATUM%it g
iRYISKYPRA FE(ERA r. 5] 38 1
IR/ FEB]R 31 PRESTRRE 15 ait 38 | 1
R/ RE 15 L&/ Rk -31 V.P. 19.37 | 0.63




